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= 19,800
Al 19,800
02 2IZt 2 AL EZ (01X TH ) 39,600 18,000 21,600
OXII0IEX B3 A (220H) 39,600,000& 39,600
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6,800

4,250
2,550
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25,000
10,000
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2N
X ZH -
L= B

el

BAES]
HIlE NH&3s
HIIS Xl AL

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 98,480
< 47,850
Al 15,063, 155
HIISMelAtd 11,761,124 9,919,485 1,841,639
= 84,480
< 47,850
Al 11,628,794
HOI2 BE XMl ALY 5,792,257 5,272,966 519,291
101 14 Hl 28,282 25,195 3,087
04 JIZHHZ2Z2XREE S 28,282 25,195 3,087
Ossg &4 JI2tH 22X 28,282
- 23 (4A2H/ F2Y) 366,400 x6H «128 26,381
—MEUZ 26,4003 x6H 128 1,901
201 -4l 341,472 334,771 6,701
01 At 22l 28,708 29,878 A1,170
OJIZHZE2X MEANE HEEY 1,200
S5 A JIZMIZ2XR WS
100,000& »3H »23| 600
-JREE A0l Mel ZAE HE
100,000 »3H »23| 600
OMYIIZHM(ZHE) EE2 £ 2B A
= 10,000, 000& 10,000
OsZ0Igd FLAZRE (AR ) ¢
5,000,000& 5,000
Ostd0Iatd AR4 dEFHZ(HSI, 3|
HHFI|, did) 1,400,000 1,400
OFEoREE2 SEXNE FIUE BX AEE
7,408,000 7,408
OHVISxelgME2d =8l
2,500,000& x13l 2,500
OUEHIIES Jt&AHE =2 100,000& 122 1,200
02 =224l 300,764 292,893 7,871
OL-HIAXE SA&2H 18,000,000 »4CH 72,000
OSellst HAXE |2l
6,000,000 *2CH 12,000
OMdIIsgsldsxtegr sA2aldl (1)
4,000,000& 4,000
OA0ISE AR SASH(B822 S)
8,000,000& 8,000
OoMedl ZS2M=sE 22810 isgH 282
100,000& 12 1,200
OMd| 22T 22810 stEE=
300,000 300
OMEHIIES & MHEHII= A2RES
10,2403 x19,850& 203,264
03 &AL Z I 12,000 12,000 0




EXN: sH3ES ]
Hz: HIIS I
2 HIISXEl ALY (2 &HH)
5 - 4
H-H2 - B9 (3H) - HEAY - BA=S Ol At o %@ﬁ HRE2
Ot dsgts 29| 12,000,000 12,000
202 04d| 1,000 2,000 A 1,000
01 2L HI 1,000 2,000 A 1,000
OHJIZE E28E)| S g2FF&8 1,000,000 1,000
206 M EHl 256,500 222,000 34,500
01 =4l 256,500 222,000 34,500
OLHRZHAXEZ B Al 2L (15004)
20,000,000 20,000
O=sd4dHIIEs #2220 HA 32,500,000 32,500
oMY =2HEsSE M (115,2300H)
180,000,000 180,000
OUEHIIS e 82 = HZ(3Z,82H0H)
24,000,000 24,000
207 I | 30,000 30,000 0
01 g E | 30,000 30,000 0
OMEHIIS 48 2LHAM FIh ¢ &0t
MNMEEA 30,000,000 30,000
301 et A =2 1,000 1,000 0
12 JIEtE2 A= 1,000 1,000 0
OMYIIEEHED(A2) AlDZAZ
1,000,000 1,000
307 2iz2to| & 5,125,003 4,653,500 471,503
05 QIZ2tRE 2 5,125,003 4,653,500 471,503
O92t MEHIIZ2 =HS06 &y
4.,721,503,000& 4,721,503
OREe (=SS AHAl) =H XAl 28,500,000 28,500
OUg & =¥ 5 MEHIIZE M|
350,000,000& 350,000
ONZBLEHEHAX HE A2 H] 25,000,000 25,000
401 AlEHIZL 2 0HY| 9,000 4,500 4,500
01 Al&H| 9,000 4,500 4,500
OELZ MY IIRSHEDI2R 208 AX
1,500, 000& *x6CH 9,000
DR XY Dl Hel Z2AE &9 168,960 159,312 9,648
= 84,480
o= 42,240
Al 42,240
101 e1214| 159,040 147,392 11,648
= 79,520
= 39,760
Al 39,760
04 J|12ZtHIZ22NEES 159,040 147,392 11,648




SN BAES]
M HolE XFE
el HoI2X™el A d (chel & 9l)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMRE XDl Mel Z2A SH (&) (6Z
, 5¥) 72,274
-JleEs 1,914,440 6 H x5 & 57,434
= 28,717
< 14,358
Al 14,359
-ANRESFIHTE 73,2803 x6H +x3 1,320
= 660
< 330
Al 330
-AEEE 2 224l S 13,520, 000& 13,520
= 6,760
< 3,380
Al 3,380
OMBRs 2D Hel ZA S (8HeH])(6Z
, 68) 86,766
R 1,914,440 «6H x6 2 68,920
= 34,460
< 17,230
Al 17,230
-ANRSFIOIE 73,2803 x6F 32! 1,320
= 660
< 330
Al 330
-AEEgE ¥ 2IHl S 16,526, 000& 16,526
= 8,263
< 4,132
Al 4,131
201 £B-2dH| 9,920 11,920 A 2,000
= 4,960
< 2,480
Al 2,480
01 At 2t 2l 8,000 10,000 A 2,000
OMRs Xl Mel Z2Ad &8 2285 #
8,000,000& 8,000
= 4,000
< 2,000
Al 2,000
02 =224l 1,920 1,920 0
OMRE XA I| Hel Z2AH SRE S4lH(4
o) 1,920,000& 1,920
= 960
< 480
Al 480
LEA24ET 29 5,706,287 4,457,207 1,249,080
308 XX EHSOIA 5,706,287 4,457,207 1,249,080
07 IXNHMAR S = 5,706,287 4,457,207 1,249,080
Ox=ZAda2d 2H=EHE3 5,706,287,000& 5,706,287




2H: B#EE5
M HWolE X
S HOISMelA Y (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
SHEI ZAt02 ZX 16,000 8,000 8,000
= 4,800
Al 11,200
405 At&HH S HI 16,000 8,000 8,000
= 4,800
Al 11,200
01 MM =SFHSH 16,000 8,000 8,000
OHZ XYIIEYEIHE CCTV 2 (0ISE
40H) 16,000,000& 16,000
< 4,800
Al 11,200
=IO ol & (&) 19,000 0 19,000
405 THatFH S 19,000 0 19,000
01 MM =S FHSH 19,000 0 19,000
Offg2 M JISg S 0TV 2 (LFE
100,015 & 40H) 19,000,000 19,000
Ne=ddd= =8 89 20,000 22,000 22,000
207 ORI 20,000 22,000 A2,000
01 A2 EAH| 20,000 22,000 A2,000
OXdz=stdadida =8 &4 20,000,000& 20,000
2 &d0Isd 2el 35,920 0 35,920
201 £et23E | 35,650 0 35,650
01 At 2t 2l bl 35,650 0 35,650
Oul=Hl 31,482
-2 60,000& 33 1,980
ESEY)] 30,000& =33 990
-HYgs(ss/0ts, 42/56H9)
700,000& »33& 23,100
-5t 80,000& *33& 2,640
-& 3 20,000% 33 660
- 24,0002 x33H 792
-HYEAM 10,0003 »33& 330
-otA 2 30,000& =33 990
OuEsAHl 8,000& x33H 122 3,168
OZ2Z=Z A B & X AtHI 1,000, 000& 1,000
202 o4 Hl 270 0 270
01 ZLHOHI 270 0 270
O=2UdAHl 270,000 270
FAXE o2 LS 2,700 0 2,700
£ 810
Al 1,890
402 It Xt=01 & 2,700 0 2,700




CB SR (B) - KIRAY - BES Ol &+ o4 SSa HmEET
< 810
Al 1,890
02 LA TEALEZ(0IETHR) 2,700 0 2,700
OFAXE b2 et o X3
300, 0002 »9CH 2,700
< 810
Al 1,890
JI=AE 22 3,448,361 3,338,732 109,629
= 14,000
Al 3,434,361
2MD HEd 2el 86,462 86,462 0
201 LBH2EH| 86,462 86,462 0
01 At 22l 39,462 39,462 0
OXEH FH =D & SIEFFHI L=
790,000& 790
OMsMY ) SARHEY SUABHAAE 2
2,000,000& 2,000
OMEMYI| HeH 2E 248 S(Nst2 =
a9 AHA =2T) 36,000,000& 36,000
OMEAE 2L AEZ 672,000& 672
02 2324l 47,000 47,000 0
QagMy )] M AlE L SEH ()=
I 40,000,000& 40,000
OdaEMg ) HeEd 222 7,000,000 7,000
ge2sa2 Mell& 2,538,825 2,527,658 11,167
201 Let249H] 230,440 511,358 A280,918
01 At 22l 20,872 15,000 5,872
OBASFHII=S 222 MA 1,300, 000& 1,300
O&EIIetEMEZ bl 2,500,000& 2,500
OHOIAIZ =22 A0l & HMeldl 2,400,000 2,400
ORAHIANAE 2 2,232,000 2,232
O&=J & "ol gx=z 1,020,000 1,020
O3JI&8FI gxtz 60,000& 10~ 122 720
OSAESRHIIE KNASAIE HIIE=22 X
IH=EE 89 700,000& 700
OsAESFRHIIES NASAE s € A=H|
5,000,000& »23| 10,000
02 2324l 209,568 496,358 A 286,790
OSASFHIIZS ANIAE B3R 88,400
-3 50,000,000& 50,000
-AlE EHE FIIE A 2,000,000 2,000
-XNAX HHEHB2EZ 400,000& 400
“HArEERS 36,000,000 36,000




SN #EESD
M HolE XFE
el B I EAL R CER-ED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OSAERHIIE NASAILE HIISXH=E BE
= 10,230& =857 & 8,768
OSASRHIISTAS AL ¥ FH =XH| 112,400
-AgEYe A= 50,000,000& 50,000
-XAHX B 7¢ 1,400,000& 1,400
-LPGItA ¢ 1,000,000 1,000
AR S M2 AAl 10,000, 000& 10,000
-J1H 2 &I &Hl =2l 50,000,000& 50,000
202 4l 1,500 1,500 0
01 = LH YI 1,500 1,500 0
OSAERHIIE M 8 s ¢l
1,500,000 1,500
206 = Hl 32,000 68,400 236,400
01 MZ 4l 32,000 68,400 236,400
OSAMESRHII=Z 88 ZSEM SEMH
403 x355,000& 14,200
OSAERHIIE B3Ex=HEI 7Y
70,000 100K 7,000
OBASFHIIZS ANIIFAE SX2el 223
- 10,800,000& 10,800
307 giz2tol & 2,274,885 1,946,400 328,485
05 Bl 3 2,274,885 1,946,400 328,485
OSA2RHIIE AT HE
150,000& *3,600& 540,000
OSAERHIIES =128 Q2AE
1,595,000, 000& 1,595,000
OSAESRHIIS SEES(EME) UAxA el
=]l 277,000 *505& 139,885
Hasg 483 X 552,674 565,612 A 12,938
201 L2l 214,474 227,910 N 13,436
01 At 22l 44,860 46,020 21,160
OMgsE8HEE 425 ¢ 26,000,000 26,000
OMEgEs Zel=H 822 HMZ 7,000,000 7,000
OA2 MEE &« WHE === 1,500,000& 1,500
O&=J & o gx=z 1,560,000 1,560
O3JI8FI gtz 50,000& 1CH ~ 122 600
OHJIItHEH S HAHI 3,000,000& 3,000
SPOIAHIAAE 2 4,000,000& 4,000
OMEELHEZT HWIILE=2 NIH=EEH
600, 000& *23] 1,200
02 =224l 169,614 181,890 AN12,276
OMEBELHEE 22R2= 61,200
-3 56,200,000& 56,200




EX: sH3Es
M HIls NSt
SRl BHHIIZ AL 22 (SH9: &)
5 - 4
SA BB (SH) - NRAY - B Ol &F o4 %@i HRE2
-XH 22 AHH] 1,000, 000& 1,000
-IHFEE= 4,000,000& 4,000
OMEESHE A A4 2 HH X4l
90,000,000 90,000
OMeEHMEE HIIES N2 B2
10,2302 *1,800= 18,414
307 2Iz2t0| A 338,200 293,750 44,450
05 QIZtR &2 338,200 293,750 44,450
OMEZ22HIIZ2 QI2t & Xl
277,0002 *1,000= 277,000
OHOMER A Xeldl2 8,500 600 x12& 61,200
LIs&H MR35 Az 4,500 4,500 0
201 LBt 4,500 4,500 0
03 A2 E H| 4,500 4,500 0
OUs&E A Mz ¥ 29| 4,500,000 4,500
SASFH HII=2 SH =& 169,200 154,500 14,700
201 et | 23,200 24,500 A 1,300
01 AP 2t 2] d| 5,000 6,300 A 1,300
OSAER HII=2 SN 2 A5 & 7Y
5,000,000 5,000
02 B232%H| 18,200 18,200 0
OSA28 HIIS(RFIDEA!) JHEHSHEH 2
22 18,200
-SNRe3 16,800,000& 16,800
SR 1,400, 000& 1,400
301 et A =2 8,000 8,000 0
12 JIEtE A= 8,000 8,000 0
O2STH(OIHE) sA=x® HII2 s2H &
= === 8,000,000& 8,000
401 AlEHIZL £ 0HY| 90,000 90,000 0
01 Al&H| 90,000 90,000 0
OSAZEZ HIIZE SZH(RFIDEA!) JHEH &
&Hl A2 90,000, 000& 90,000
405 XHAHF S HI 48,000 32,000 16,000
01 XAt 2 ZF S| 48,000 32,000 16,000
OSAZSFRHIIZ SEHM HEHEH 2 (w
HAX) 1,600,000& *30CH 48,000
MHeEsE U= AIgEAY 26,000 0 26,000
201 gBt24 | 23,000 0 23,000
01 AFR2 22| H| 23,000 0 23,000
OXg=s JIH 222 H& 1002 =10, 0004 1,000




SN BALSY
M HII=2 NS
SRl BHHIIZ AL 22 (SH9: &)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OXNJ=sAAE AIBE 22,000,000& 22,000
405 TtHabF S| 3,000 0 3,000
01 AL EFSHSHI 3,000 0 3,000
OXdzs I 22 2E72L (328 )
3,000,000& 3,000
Me=sxe olsd XA 14,700 0 14,700
201 L2l 14,700 0 14,700
01 At 22l 14,700 0 14,700
o1l =l 13,356
-9 60,000& x14H 840
U RaEAY)l 30,000& » 14 420
-APE(EF=E/0tE,49/56H9)
700,000 14X 9,800
- 5t 80,000& x14H 1,120
-& 5t 20,000 14X 280
- 24,0003 x14H 336
-ZHEA 10,000& »14H 140
-t 2 30,000& x14H 420
Oun=sg4atl 8,000 x14Y 123 1,344
OOl AT THEFZ AMY Xt P 56,000 0 56,000
2 14,000
Al 42,000
405 RHoHF S HI 56,000 0 56,000
= 14,000
Al 42,000
01 XL 2 ZF S| 56,000 0 56,000
ootolA®™ £ U BIEXS(MIIS2SX 1E)
T (MGt 2IZE EE 56,000,000& 56,000
= 14,000
Al 42,000
HH2IZH(BZ2ES ) 2,313,574 2,326,423 A 12,849
JlEHH (BEES ) 30,380 50,500 £20,120
2 (2#ZEs ) 30,380 50,500 220,120
201 £B-2dH| 19,000 19,000 0
01 At 22l 19,000 19,000 0
ORA2I AR 22| 19,000, 000& 19,000
202 o4dl 4,000 24,000 A 20,000
01 = LH o4 1l 4,000 24,000 A 20,000
OJl2ge=+a8ntl(25Y) 4,000,000& 4,000
203 YR =] 7,380 7,500 A 120
04 FN2IEHSFAH 7,380 7,500 A 120
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